@900 33Mlo

M00994809 mM09beoM9deo s3MMmamsdgos 1 ( C++)

29d300 1-2
dnbssmbo:

* 36 7300L bogmemalbdgzn oMam3g6@ 900 (30300l 3oMdqB)Mgdal nbn(snamabgds)

* b (305000 3505300035

*  3o30mbgdo s hoadswo (inline) g3mbdz0960

¢ 3mobo: 0bgogbmmssonl 360b3030 (Encapsulation). 3emobob 693696 b3comds (private, public)
o 3mabab 0b@amazgobol godmymaezs 033emqdgb@o(snnbgsb

o 3mobob oty (private) 693696 b3mas

e 3MBLEOMIGMMNL gos@30MM3s. 3MBLEGMMIGMEN bogmmabbdgzn sadgbdgdoo.



a3bd(300L sMaMIbB g0l 360d3zbgmmmdgdo gmmolibdmdols 3Gnbzndnm
( 56 g3mbg 300l 3565398 Mgdals 0ba(z05emaDgds)

dqdga dsasmnmndo ggb 30 Volume nomgemals dotom gnmbs 3atomgemadndgoolb dm(zmmmdsal. g3mbdisnnl 3GmEmEn3dn
L33y FMOoeE 3533 gBML dnbogdndmemn g0 Lobynbo 3bndzbgmmmdgdn. gb ggomgal Ladmoemgdslb ggubdz00l
259mdabgdol MM gomang393s dob Mg396@qdab Lbgaabbzs Mammabmds.

#include <iostream>

using namespace std;

int Volume(int a = 2, int b = 3, int ¢ = 4);

// a — 3stsgmymmn3o3gcool iamdol Logthdyg, b — 3ssemommydodgcool ggwmdol Logsb),
// c — 3s0smmymmadndgcool Uodsmemy

int main()

{
cout << Volume () << endl // volume of box 2 x 3 x 4
<< Volume (1, 2) << endl // volume of box 1 x 2 x 4
<< Volume (1) << endl // volume of box 1 x 3 x 4
<< Volume (3, 2, 5) << endl; // volume of box 3 x 2 x 5
}
int Volume (int a, int b, int c)
{ ............................................................................................. .
return a * b * ¢; : OUTPUT :
0 24
} 8
12
30



AMbg300L 350398 Mgdals bsbagmmdMngo aba(znomabgds

dyLadmdmos 3MbJi300L 3303xBMndol Basfommdmozo obogosmobyds. o3 Fgdmbznzsdo
06030sm0Byds Mbros 0fygdmeol Fsbrx3bosb, sfysdymo dmmm 336M83xBM00d. TdgdMmOmSCO,

// 8wbjpool 3GmEm®E0o3o
void func(int a, int b = 2, float ¢ = 3.75);

// 8obo d9gbsdmm gsBmdsbydydo
func (10) ; // ok
func(5,7) ; // ok
func(1,2,12.7); // ok

mmmbo 3sdmdsbydes
func(); // wrong call

399m0{393L 3m33omsiool Jgomasl

error C2660: ' func ': function does not take 0 arguments

36300l 3hmEAmE03do sLIZ3xd0s 380337EMHd0L LdbymMadoL gsdmEm3zads. Tdsgsmomsc, ULHmMo
0]6950s 3mEmEodo

void funcl(int, int = 2, float = 3.75);
Mbd  g930035mnbbobmm, MHmd  funel gbinalb  033madgbBo305d0  3oMadg@Madal  Lobgmadal  Boncmomgds

3300989005, bmmm 35605398 g00L  Lobyobn d60d369emmdB9d0L  godgm@gds dgsomdss.  sby  funel gybd(300L
033 939b@ 530590 LomdMMEL dgbademm babgs

void funcl(int x, int y, float z)
{
/] I9begdswo d99mdobgdgoo



3mbg(300000 gosdg0Mmzo
CH+ —do IbomesdgMomos dgliodmgommds aobolivdmghml 9Mhomo s 0gogg Lobgmols Idmbg H99wgbodg a39bdis00, ory
aoblbgoggogmos domo LogbognMs, g.0. gowslivggommo x39bdi0900ls 30M8dggMgools Los b oymls goblibgoeggogmo b

395398 900ls Momegbmdom, sb domo godom, ob 35M539gMgdols MOMEIbMO0md3 @S Godoms. 8dsls 9imegds B9bdiooms
aswsggommgs (function overloading).

aorsggomogmo (overloaded) 99bdis0900ls asdmdobgools edmls CH -ols 3m33ogmo  55bd0dgols sMa4dgbgqdols
MomEgbmosls, Jom godlo ©d Mogocmmosls s olsg dSwaqbls dglolitmgogmo ggbdieols Iglodsdols §369d3ecomLs.

0909 3dgomomdo gowsggomorgeo Opposite gnbgdisos s0Gbgdl mogolio gmmorgmmo sMa1dgbgols Imdomesdomy
dbodgbgenmosls.

#include <iostream>
using namespace std;

int Opposite (int );
double Opposite (double ) ;
long long Opposite (long long ) ;

int main()

{
int i =-10; double £ =11.23;

long long k =5910000000LL;

cout << "Opposite (-10): " << Opposite (i) <<'\n';
cout << "Opposite (5910000000LL): " << Opposite (k) <<'\n';
cout << "Opposite (11.23): " <<Opposite (f)<<'\n';

}
int Opposite (int n) {

return -n;



double Opposite (double n) {
return -n;

}

long long Opposite (long long n) {
return -n;

} :

: OUTPUT
36maMsdob a30m@Esbol 336)0600.5 opposite (-10): 10
Opposite (5910000000LL): -5910000000
Opposite (11.23): -11.23
Press any key to continue

.................................................................................................................

30350, 83593l 99dga0 39bd;50900l IHMmemeodgdo:
double func(int , double , char = 50);
int func(int , double );

void func(int , double , int = 3);

09 d9dmbgggedo g9bdisools godmdobgos

func (10, 0.0123);
899mof/g93L 3md3omosools eMHmols dg3emdsls
error C2668: 'func' : ambiguous call to overloaded function
could be 'void func(int,double,int)’
or 'int func(int,double)’

or 'double func (int,double,char)’



©537dg350, Hmd hgqgbls SoMgge dsasmomdo Volume g9bdisools 3mgmegodo godmoytgos ol

int Volume (int, int, int = 1);
9l Iglsodemgogenls bools gbdis00ls 493mygbgdsls Hmamt(y JoMomgmgdodgeols g3dols gommmools, olsg dolso Im(ggemodols
aodmbomgegesr, oby a3d3k Fabduool aorsggommgol gBgdeo:

#include <iostream>
using namespace std;

int Volume (int, int, int = 1);

int main () {
cout << "area of base ="
<< Volume (3, 2) << endl
<< "volume = "
<< Volume (3, 2, 5) << endl;
}

int Volume (int a, int b, int c) { OO
: OUTPUT :

return a * b * c; i
} . area of base = 6
: volume = 30
. Press any key to continue



dogmmbgdo

a9bg00l8 49dmdobgos Morgmo 394oboddos o Imombmgls asM 3399 MM, Mo Lodmmmm xoddo ofgggls IBmamodols
dglirgemgools Mmool 8M@ols.  39bd;30089 dodomgols Mmols  dgdomgools dodboom C/C++-3o dbossdgtomos  9.f.
39539900060 3o 3masbIoMeggd900 (aodﬁ)mh{]bo), MHmdgdos aobolvdrgmgds IMgdmmiglmmols #define womgdgogoo.

398 90mO,
#define MIN(a,b) ((a < b) ? a : b)

35 30mbo dgagodmos as53mgoggbmm mMo mdogdgowsb 1diemgliols d3mgbolisls, 03 JoMmoom MM Jsmmgols asblivdrgtgmos <
™39 gmMo.

#include <iostream>
using namespace std;

#define MIN(a,b) ((a < b) ? a : b)

int main()

(o |
cout << MIN(-11, 4) << endl; OUTPUT :
cout << MIN(11.5, 4.3) << endl; ;—11
cout << MIN("stringl", "string2") << endl; 4.3

} . stringl

. Press any key to continue

do30mbols a8dmdobgools sSwaomsls 3MgdMmsglicmto ,,0130601(*)336[3“ dols, 9.0. obeqgbl dols gqdlegn® Bobsigengosl. hHgqb
dogomomdo asdmdobgdos MIN (-11, 4) Boobsgmgds aodmbobymgoom ((-11 < 4) 2 -11 : 4), 6)('180@0(3

353mM003mgds ®IM 30093 33300l 9@eddy.
Sbs@mma oMo dglitmegos 3o 3Mmbols @sbsmbgbo mmMo asdmdabgos.



ab g3og@n, M3 35360mbgdn 0ygbgdab &gJuB e Pobagegosls, 3mEgbsnfMn dg(30m38g00L Bysmb Bafmdmaragbl. dogsmomaco,
d9dga0 3536mbab

#define CUBE(x) x * x * x
359myqbgds 3menb gMoad968do

int n{ 3 };

cout << n + 1 <K " *# 3 =" << CUBE(n + 1) << endl;
235dmg3L oMo 3mMgdGm dgogalb: 4 4 3 = 10, GMowasb CUBE (n + 1) HRonbsszmads @gdbdoo 3+1*3+1%3+1
53 doM@n3 dg8mb393590 3Mbemadols dmg3eMgda(s datGngns:

#define CUBE (x) (x) * (x) * (x)

J9eqaoe CUBE (n + 1) -ob nJuEum Rsbsgzmodsl 93650 Lsby (3+1)*(3+1)*(3+1),
b gmoadgbgols dglitrgemgosls : 4 ~ 3 = 64.



Rocogdscon (inline) gubg30980
35 360mL00b ©353d0M9079@0 3MMdgdgools slid0egomse C++ —do d9dmmgdmos howadsco (inline) a9bg50900. dom dlsgg9
V9096 holidow ob hodgbgdsw 59b4s0g0ks.
Logygo inline g7bgisool gobsgbowdo Limogodmals (”1']6’%83[5”) JM330egmls g1bdsools asdmdobgools d945b0ddols hotmgols
bo(3gemoe Imobrobmls 396500l gobols skienols a9bgomgos (30836360, Balsds) dolio a0dmdobgools Segomosls.

#include <iostream>
using namespace std;
inline bool isOdd(int n)

{
return n $ 2;
}
int main ()
{ .......................................................................................
int a = 19,lb1=h128; | OUTPUT
cout << boo a"p.a dd? " | s0dd 41 19 is 0dd? true
<< a L %s oddar << }so (a) << en 128 is 0dd? false |
<< b <K< " is 0dd? " << isOdd(b) << endl; ; . :
} . Press any key to continue el

inline oggbgiools 453mdobgds 3mddomsiools 3Mmsglido gogemmmgrgds dsasgls moogdggd 3medo

cout << boolalpha
<< a << " is 0dd? " << a % 2 << endl
<< bK< " is 0dd? " << b % 2 << endl;

Omdgeo(s, (3B9©0s, dgligemegds asomgdom LiMogow gowmyg gls Imbrgdmes gabdsools 4odmdobgdols eMmLs.

3M330egmls d99deos gageggogeyml inline 1393090 398MM0 s, hgggmgdmog, slgis 0d5939, 07 B3bd00 96 SMols Jstgogo
o Im 3eq. 53 d9dmbgggedo 69bds00 aodmodabgos hgggemgomogoe f9loom.



S9M0a 5@, 07 g1bd300 90308l a9bdgmgools Iggymoobgosls, ob switch dggymdobgosls, ob static wmm oyt (;3@owgols, sb
stols M9390Logemo, inline U3g3050359300l dols 45bsbowdo 980 st dggls.

5939 9@gbodbmm, Hmd inline gybdisools IMOgo@mxgMO©o godmdabgos 8Mwols IMmamadols dmzgemosks. sdogmd, ory ggbgisools
8560 30680509, 358690 oo, 56 Boadswco g1bd;09/n16d509d0 89dmodabgds d95Mxa®,
d5dobo(s 9 omls skigom g7bgeolmob inline U3g3095039gmMols a5dmygbgos.

©slivdggoos inline g9bdso0ls 3oModgemMgols dogsbodmo Lofyolio Ibodgbgemdgoo.
Jd99@ga dogomomdo inline gibds0d square omgmols x a39M@05bo 3g39Mdgols oML,

#include <iostream>
using namespace std;

inline double square(double = 2.5);

int main()

{

cout << "side of square = 2.5,\narea = "

<< square() << endl;

cout << "enter new value of side = ";

double a;

cin >>a;

cout << "area of square = " << square(a) << endl;
}
inline double square (double x)
LSS

return x * x; : OUTPUT
} éside of square = 2.5,
3mMa M3 56Fo3l: area = 6.25

. enter new value of side = 10
. area of square = 100
. Press any key to continue



0bgogglmema(300ls 3G0b(3030 (Encapsulation). jemsbols 6g369dbg B3omBs (private, public)

06393l7ems;300 — Mmdogd@dg MMngbBnMgdmmo 3Mmamadomadal (OOP) gMor-gMon dofnmomn 3mb3gx300 — gobababmamgds,
Mmamz dmbsa3999d0Lb s dondg dobndymomagdal dgmmegdal dg33Ms gfo dmemmdn Labgmbmeagdno  3msbo.  3msbo
3domagl 3mbs(39990bg 30Mmadn® B3c0mdsls 3emabinb gofMgoseb: dmba(39856Dg 63c0m3dnls Ladgsgdsals ndmagas 3emabinl dgomeagda.

9L o0l OOP—0b mz0bgds, MMIgemas Imbs(398ms adaemaals gdbabMmgds. pbgMEMBs(3nal edamgs bamb MBymdl dmbs(393960l
05(335L 5 d0memadl 3MmaMadals dmenggaznmgdsb.

class Square // 8m8b63stydmaol 8ogm gsbLsBmzmnmo s8UE®sIB WMo 8mbspg8ocs Bodal gsblLsBmzms
{ // &o30L Lsbymos Square

I/N/Jb;:)ﬁ . bopgs®m §930900 — 3emobol 8m8Lsbwy@mydol mos 0bdyMmagolo

// B39mod603 globos 3emslol gmMbJrogdo 8godmcogdo) , Bsghsd sts 3emsbol 8mbspybydo
Square() ;
double Area();

double Perimeter() ;

private:
// cosbmbrmemo, 390mdm f9g309do — fzcomBscoo dbmemmco 3emobol 8yoomeondoliorgal
// B39mm9d003 9globos Mool 8mbsgydgdo cos Bmgxahm 3emsbol 3wb6Jposdos
double side;
}i

public: (©od, loxsmm) ws private: (wobydgwo, j9Hdm) deggdls Jeolols sefgsdo 9fmregdsm 9er9d9659089 Faomdols
39090 398MMg00.

Jeobiols 9369089, HMIgenms asbssbowgdo dmmogligdgemos public  bdgsogo39gmMols 399wga bgoswomorgemos fgemds
IOmamadols bgdolidogMo seaomowsb.

private U3dg309039¢mMols 390 asbbogoge dmbo399908g @ 99bd309089 dMMaMdowsb {gemds o3Mdocmemos. skgm
dmb(3999000b ©5 39645090056 F9domdS Ig7deosm Fbmeme 53539 3emoliols g9bds090ls (Qo 9. V. d98mdom tgz]ﬁj(jogbls).



Jeoliols aobliodrgmols lbgs Lgoemo

class Square

{

private:
double side;

public:
Square() ;
double Area();

double Perimeter () ;

};

0 asgomgocoliobgdm, ™I gemoliols dmbo999003 @d g1bds0900(5 agolbdmools 3Mobsodom wobytgwmo 9369000, dodob
6990 Imygobow asbssboedo dgodwmgos asdmggmgmo private Ldgogozogmmo:

class Square

{

double side;
public:

Square() ;

double Area();

double Perimeter () ;

};

aobosbowo gmsliols md0gdedy (gemoliols 93893308y, jemoliols godols 3genowdy): Square mySquare;



Jemabals 0b@gMggoliols godmymazs 0d3emg39b@)o(300ligsb
0y gemobols dgomeols 033e9d9bgo0s  gobbmmzogegdgmos jmoliols dogboo ogo sMO(3bowoE asbolivdmgMgos Mmamm(;
boadowo g1bd;s00. 079930 3MB30egMo JRegosls 0gmgqgdls 56 agsbobommls ogo Gmam; inline.

Jeoliols dgomeqgools asbliodwgmo (oﬁ%ﬁ)o) Voo 9bws dmbrgls 9.f. gewosbiols 033emgdgbgopools Mgomodgdols (JQOBOB
95908900l ) bofoemdo salfgMols gotgom. gamm 39805, 093c9d9bg9z00l bsfocmo Lslsgmggemos ogmls asgobowo Lbgs gsoemdo,
Omames 9l begdds dMogomasocmo dhmgdeols dgddbolisks.

class Square {

public:

// 3emsLoL 3MbJ30980L 3GHmAMB03980
Square () ; // default JmbU®GWYIG™MO
double Area(); // @gs®nmdol gsdmorgmol gnbjgos
double Perimeter(); // 39Mm0ody®tol gsdmorgemol «nbisos

private:

double side;
};
// 3emsLol 083mn896ds30s
Square: : Square () { Square: :Square () :side (5) {}
side = 5; 36
}
double Square::Area() {

return side * side; // ULscosg :: sMol bogmgscomdol stol m39Mms@mmo
}

double Square: :Perimeter () {
return 4 * side;
}
Jmeols 399ega0 aMeadgbgo:
Square mySquare; // mySquare mdog®ol 89J06s. azoMo woomol 5-U.
cout << "Area is " << mySquare.Area )
<< "\nPerimeter is " << mySquare.Perimeter () << endl;



0309 3cod3UL Area is 25
Perimeter is 20.

doa 59 adodmbiobyemgds  cout << mySquare.side << endl;
dmag399ls 3ma3ocssools Igemdsls

error C2248:'Square::side': cannot access private member declared in class 'Square'

3ol eabfrmm (private) 693696y bgomas
0dolomgols, MM IOmaMsdols Iglirgemgools bgoolidog Imdgbgdo dglvdmgogemo oyml mdogdgols private dmbsigdgools
9330, g@olido gbes ggdmbegl 3gsoowgdo g3bdis0g00 (oabmbaﬁ, Set godols 37]6:180360). 07 3Omamedodo ©dsagdoMws
md09dgols @obdamo dmbo39dgdels I60dgbgenmogde, dom ”oamdombgols” 38M9mgg  Slmgogh  gwsliols Ldgioocyto

296450900 (IJV Get godols 3‘36{]30360).

#include <iostream>
using namespace std;
class Square

{

double side;

public:
Square() ;
double getS(); // 31b6Js00 03586mbxdL side zgmol 8608369mmdsl
void setS(double); // 816J30s 80s60398L side g9mU sbsem 8608369emmdsl

double Area();
double Perimeter () ;



// 3emsbol 083mmnB89bBspool bsfomo

Square: :Square() :side(5){}

double Square::getS(){ return side; }

void Square: :setS(double s){ side = s; }
double Square: :Area(){ return side * side; }

double Square: :Perimeter () { return 4 * side; }

int main()

{
Square mySquare;

cout << "The side of class object is " << mySquare.getS() << endl
<< "Area is " << mySquare.Area ()
<< "\nPerimeter is " << mySquare.Perimeter () << endl;
mySquare.setS(2.5) ;
cout << "\nThe Area of class object with side " << mySquare.getS()
<< " is " << mySquare.Area ()<< "\nPerimeter is "
<< mySquare.Perimeter () << endl;

} .....................................................................................................................................

36mamsdol 37LM doL 3 09 OUTPUT
° PR L0 : The side of class object is 5

. Area is 25
. Perimeter is 20 :
. The Area of class object with side 2.5 is 6.25;

. Perimeter is 10
. Press any key to continue



3mbligdamMols aosgg0Mmgs
asbbomgm  dsgomomdo Square otherSquare(10.5); mdojidolL  85J9boL  Igoommmds  3sdmofznzl
3Mm330me3ool  dyzomdsl, Mmeasb 3msboL smfgmsdo s g353J3L TyLsdsdolo EHodolL  3mbLEMWMIBH™MMO.

Square 3mdLdo Mmd d3335¢Mmn 300093 9o 3mbLEMYIBMMo 3568TxBM0o 3mI30mdEed LMY
Dob3s@gdoon. 83 3xdmbznzsdo LsJdy 3353J3L 3MBLAEAOYIBMMOL godE30600035LSE .

class Square {
double side;

public:
// 3mbLAEGVIGMMOL gocosd30M013s

Square() ;
Square (double ); // 3mbUAMYIAMMIO0L 3MmBEmB03900 IemslLdo

}i
// 3mbLEOYIAMMIdoL 083my89bdspos emslol gemyon

Square: :Square() :side(3.5) {}
Square: :Square (double s) :side(s) {}

obd dga30deos d9degao mMogg moogdgols d94dbs

Square mySquare; // m309JBdol 894865 wW33sMs89B@mm 33mbLUGGYIGHMMo
// 33%003F0l azaM0 3.5 —-ob Gmmos
Square otherSquare(10.5); // md09J®ol 897865 35658900360 3mbLUEGYIGMMHoo
// 33500330l ggofoo oMol 10.5 -U



3bligademmo bogaemolibdgge s6a79968g9000

9230000 M0 adsedggoMmmgmo 3mbligMgdgmmo Hogobsigemm gMhomom, HmImols 35M8d9gMls dobodgogmo odgl Lofyolo
db0dgbgemmos, g.0. boggemolibdgge oMamdgbgols IJmbg 30blgydemtom:

Square (double = 5); // bsgwmobbdygzo s6gw89bdol 87mby 3mbUAGWIEHMMOL 3MhmBm®odo 3msbdo

Square: :Square (double s) :side(s){} // bsgnemolbfygo sMmgn8bdol 8Jmby 3mbUAGYIBHMMol
// 0830m9896Bsgos 3emsLol gstnon
59 d9dmbgggedo

Square mySquare; 3sbsgbscool LsgydzgmbBy F90Jdbyds 3330MsB0 5 -oL Bmmo azxhom, bmemm
Square otherSquare (7.75); gasbsgbscool Lsgd3zgmbBy — 333MBGL 7.75 —obL EHmmo 370 .

3080000, d9degao 3MHmaMmsds

#include <iostream>
using namespace std;

class Square {
double side;
public:
Square (double = 5.);
double Area();
void showSquare() ;

}i

// 3emsbob wbJp09dol 0830m9896dsgos
Square: :Square (double s) :side(s) {}
double Square: :Area() {

return side * side;

}



void Square: :showSquare () {

cout << "The Square's side is " << side << endl
<< "Area is " << Area() << endl;
}

int main ()

{
Square S1;
S1.showSquare () ;
Square S2(10.3);
S2.showSquare () ;

} OSSOSO OO O OO UT OSSOSO 5
©d93o3ls . The Square's side is 3.5 :

. Area is 12.25

. The Square's side is 10.3
. Area is 106.09

. Press any key to continue

017 geolsido oM a35d3l 95 9o 3mbligMgdgmto, 3mI3ocgio mogoe dgddbols boggemolibdgg (739M8dggMm) 3mbligdemmls
Mmamd; goliol @os inline Y630l s 3sdmnoy)bydL IsL MmdoyiBolL dyLsJabymeco.

5dolimsb, Hmeqglio 3emslio dgoogls ImIbdemgdemols Jogd dgdmegoge gdmls dsod(y 3mbligMdemmls, 3madowgmo boagolibdgg
3mbligdemml swom qadbols.

C++11 b@oBg\)oﬁ@)ob 80b3g930m 8mb806353@b aa‘adqmo ood‘gmmb dm830@3€)0 boggeolibdgge 3mbligdgdgmmols a9bgmomgos
dodobos, OmEolsg jemolido sMligdmols Lbgs 3mbligMgdemmgdo. sdolomgols jemoliols swfjgmodo gbos hsofgdml sligmo
3mbliggdemdols 3mmgmegodo dmdbobymg default Logygol mobbengdoo.



J99wga dogo@omdo s0a90s jemdlo, MmmImols @obyMm ggemls side dobodgdymo 8J3L  LsfPyolo T603365mMMds .
0amolbdgds, Gmmd Square A; asbsgbscol Fgdmbznzsdo T50Jd650s mdogiBo 5.-0L GHmmo 35mom,
oy 3Mm33omohn  ssa)bMotngdl  bogmolbdgs 3mbLEMYNIBMOL. Miash 3msbo djoEs3Ll  Msdcnb0dy
330307 BM0sb  3mBLEMYIBHMOL,  BsgwmmolLbdgzo  3MmBLAMYMIEH™MMOL  T5JdbsL  3m33omymlL  sodyEHdL
3hmEm@Eodo

Square () = default;
int main ()

{

#include <iostream>
#include <fstream>

using namespace std; Square A;

class Square A.showSquare() ;

{ Square B(10.25);
double side = 5. ; B. shoquuare () ;

Square C(cin);

C.showSquare() ;

ifstream fin("squares.txt");
// "squares.txt" contains 3.75

public:

Square () = default;
Square (double) ;
Square (istreamé&) ;
Square (ifstreamg) ;
void showSquare () ;

Square D (£fin);
D.showSquare() ;

}s;
// Implementation
Square: :Square (double s) :side(s){}

Square: :Square (istream& x) { OSSOSO :

cout << "Enter side "; : OUTPUT
X >> side; ;side =5
}  side = 10.25
Square: :Square (ifstream& x) { Enter side 2.5
x >> side; : slde = 2.5
. side = 3.75

y . Press any key to continue :
void Square: :showSquare () { SR y %€ y to continue SN

cout << "side = " << side << endl;
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#include <iostream>
#include <sstream>

using namespace std; int main()
class Time {
{ Time dt, st("4:17:50"),
public: t1(18, 30), t2(3, 12, 30);
Time (int = 12, int = 25, int = 40); cout << "default-Time ";
Time (string) ; dt.showTime () ;
void showTime () ; cout << "string-Time ";
private: st.showTime () ;
int hour; cout << "tl = "; tl.showTime () ;
int minute; cout << "t2 = "; t2.showTime () ;
int second; }

};

Time: :Time (int h, int m, int s){

hour - h; minute - m; second - s; ...............................................................................................
} ; OUTPUT =

Time: : Time (string S) default-Time 12:25:40

{ ;string—Time 4:17:50

+tl = 6:30:40

2 = 3:12:30

EPress any key to continue

istringstream in(s) ;

in >> hour; in.get();
in >> minute; in.get ()
in >> second;

}
void Time: :showTime ()
{
cout << ((hour == || hour == 12) ? 12 : hour % 12)
<< ":" << (minute < 10 ? "0" : "") << minute
<< ":" K<L (second < 10 ? "O0" : "") << second << endl;



